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@ s, Sl ) phlie (S5 48 deadll QS o 685 daled o fliplr Aedss™
B 48 oadl) s dzal S | flip left right 2l jlaial
;b
>>A=[123:4 5 6;7 8 9]
A=

1 2 3
4 5 6
7 8 9
>>d=fliplr(A)
d=

2 1

© O W

5 4
8 7

A all 4 ghacaall oo L) peslic slhel; o sk dael oo diag deda®®
>>diag(A)

ans =

1
5
9
Skl jualie Lo Jsasll li€e, diag(fliplr(A)) e plasiuly : daadet
DA Al A ghad) (g )
>>diag(fliplr(A))

ans =
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€ A yo A8 Jina Blarall 48 giaall S 1Y) Lad (gaath CaS*

: size(m,i) Y a if else end aSail) dles aladiul (3 yh oo
>>if size(A,1)==size(A,2)
disp(’ dri e 4 sias cilad i)
else disp(' 4x e 4 hias JAxi A1)
end

Jay yo 48 ghine iy 38l

>>
CA Y Gib e A8 sieadl) Jtie Jany ;A8 deadl J it
>>d=A'
d=
1 4 7
2 5 8
3 6 9

Sha¥l s Jem Judua reshape(A,m,n) : 48 siaall s yi sale |
, Buaal) 48 g naall ‘;A’Bm;}!\ 22 e Jun g, snaall 4 diadl 8

A U8 S 5 | i gl (S5 Gl 38 ghaaal) (ag i salely JUiall b o i
D Gab e b Ky 548 seadl jualic dae alai ol Lile
>>s=size(A,1)*size(A,1)
s=
9
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Lgeaditins Al 48 ghiadll GY Castuall aae* Cagiiall aae Liaddiul gk
XS] qqcc.a)laum e Lgad (5 gluhy dmy yo 48 glinn

(S Gl Y pdaias

>>t=reshape(A,1,s)

t=
1 4 7 2 5 8 3 6 9
b giadl Hhd alic (e o paic S Gu ALl (b alas of Wle*
a = 1 i
1 4 7
= 3 54 s
3 6 3
d:
1 4 7
2 5 5
3 5 g

stm amlid mnd g ound ol shall sl e gy smid e olaall gl ksl
lylins Sopemall smli ga (gliphuis lass dey v Sogamall ol )upas ol
saly all

4 solas ¢l size(d.2)+1 sl size(d 1)+ 1 g soluall . By 1 gy @l

mpany mpal ol . spmy com nell g5 g

7l AM-file calal saan 5380 il | o yaill Jad Cpaniose Ul (Y1
AU A mat aub U sy | S b S) 5 Q3L
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>>mat([1 2;3 4])

- s
>>A=[12 3;4 56;7 8 9];
>>mat(A)
: sa )

function v = mat(m)

Yolagaiarsy Ay ya 4 shiaal (5 S 5 (oo ) Gl Jlagiady o 58y 21 12
%Y ol s ye 48 shmall s2n il 13 L Ginill o g8y 5 (anl

if size(m,1)==size(m,2)

Yol s s hadl) Jlasin) oo A5V 5 gladl)

disp('That is the Matrix You have input')

disp(m) %lelaaly Cud Al 48 shiaall jleda) dadas
f=diag(m); %Al 5 shadll 8 4aoiiuin oo )l 48 sdiaall
x=diag(fliplr(m)); %48 siasll 5 5l il Clua
fi=size(m,1); %omas siasll Ciia palic 2

f=fi*fi; %4d somall KU jaliall s2c

$=M'; %A stuaall J 58ia
fr=fi+1; Yo N Jhdll jualie e G paie JS (3 ghadll
t=reshape(s,1,f);% sl fou 3 28 siaall s yisale)

i=1:0rf; % 8 a8 AT a1+ Casiall aae 4 sl 5 shall el Ledagiuin Al jualiall plad
43 giadll

t(1,1)=x(1:fi); %o sl Hhdll jalic lewds oo (5 gledll 5a2a b clac)
s=reshape(t,fi,fi); % o) 4 siadll & 5 gladll i jisale)

M=5"; %o la¥) g1 B o) 4 shomdll s i 5ol () 4 sl J i

disp('m After changing the main diagonal with the second diagonal')

disp(m)%e! ek
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%o S gant 1) il pualic: Jlasiad) 4 Al 5 ksl

m=fliplr(m); % alaaiul & 28 5 A8l il ghadll (i aladin) Jal e Gaay Tl o) 4 shiadll 8
Al dge 5 ) sal) s

% ad Jiar s il gLl (o) gl Jlasind s dun sl 3 531 aniil) 3 da sy 2l ) gladl
@l kil

x=f;%Giving X The F Value Of the main diagonal Of M
s=m'";%transpose of m

t=reshape(s,1,ff);%vector of m transpose
t(1,i)=x(1:fi);%Giving new value to t vector from X Vector
s=reshape(t,fi,fi);%Reshaping the transpose of m matrix
m=s';
s=fliplr(m);
m=s;

disp('THE Final Matrix After Changing The main diagonal with the second one
And the second one with the other one')

disp(m)
else
disp("You Have Entered Non Squared Matrix')

end
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